= o
A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
2N s3I
HE: sAZMAYS
Sl s FI| (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=& 14,568,641 28,124,181 A 13,555,540
= 2,097,494
J| 373,319
= 2,518,267
s 9,579,561
sZZAHS L3 14,538,947 28,091,609 A 13,552,662
= 2,097,494
J| 373,319
< 2,518,267
s 9,549,867
sgHFI = 1,377,061 1,607,100 A 230,039
= 228,094
J| 121,521
< 290,770
s 736,676
sHYRFL 37,360 42,100 24,740
201 et 3,000 3,000 0
01 At 2teltl 3,000 3,000 0
Osg&EXNS oM 221l 1,500, 000& 1,500
OsZEAM 2 sEMY EE=2 MEAM WA
1,500, 000& 1,500
202 Odl 7,560 10,800 A 3,240
01 = LH 4 Hi 7,560 10,800 N 3,240
O=3gSe =& 10,800,000& * 70% 7,560
203 YR =2t 5,000 5,000 0
03 A F=XH S =AY 5,000 5,000 0
Os& g2=4 g3l 5,000,000 5,000
301 LA F 6,800 8,300 A 1,500
09 SALEHIX A S 6,800 8,300 A 1,500
Ogts¢ - 0= SNy us
60,000& = 80H 4,800
O ¥ Cos =eong 24
2,000,000& 2,000
307 21201 A 15,000 15,000 0
04 QIZFSHALAIR B = 15,000 15,000 0
Osgeltd F3s XA 15,000, 000& 15,000
SHER0XSH 11,520 11,520 0
301 LEHZ 11,520 11,520 0
12 JIEBHE4 = 11,520 11,520 0
OsH==0IXA 3,840,000& + 39 11,520
SHBZUMALX R 22,000 35,000 A 13,000
307 glz2tol & 22,000 35,000 A 13,000
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2N s3I
HE: sAZMAYS
Sl s FI| (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 22,000 35,000 A 13,000
Ost=s¢ SE=SEZUa &t 12,000,000& 12,000
Ogtsg 55 SsS4=S ZEHE0E A
= 5,000,000& 5,000
Oet=sH d= 2ss6t28 EH &t
5,000,000& 5,000
HEsHAHAMIH 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
Ogtdls SE=EUs ot 10,000, 000& 10,000
Ost=s Relset=E X201 #A 2,000,000 2,000
Ot = stitsS A 3,000,000& 3,000
sHIIH =¥ZE FENS 55,020 60,816 A5,796
< 10,248
s 44,772
301 LA F 55,020 60,816 A5,796
< 10,248
[ia 44,772
12 JIEtE 43 55,020 60,816 25,796
O=g3gH sg3d F2MS 55,020,000& 55,020
= 10,248
s 44,772
sXolg822 X 173,601 27,939 145,662
J| 121,521
s 52,080
101 1A Hl 165,601 26,139 139,462
Jl| 115,921
s 49,680
04 JIZHHZ2XRHEES 165,601 26,139 139,462
OsX0l8 A=A EX 2182¢
48,719,000 48,719
J| 34,104
s 14,615
OsX&Ee dHEH EX ARY
116,881,210& 116,882
J| 81,817
s 35,065
201 ¢er24| 8,000 1,800 6,200
J| 5,600
s 2,400
01 At 2t 2l 8,000 1,800 6,200
OsXolg 2elX& 8,000,000& 8,000
J| 5,600
[ia 2,400
=gl 22X M3 10,740 11,700 A 960




2N s3I
HE: sAZMAYS
Sl s FI| (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,004
s 8,736
301 LEAZ 10,740 11,700 A 960
< 2,004
s 8,736
12 JEEd= 10,740 11,700 A 960
O=sglles 32X M2 10,740,000& 10,740
< 2,004
s 8,736
=g XX 18,200 16,000 2,200
307 21201 A 18,200 16,000 2,200
03 A EE2HHIES 18,200 16,000 2,200
Osgeled 294l X& 18,200, 000& 18,200
e =gol HSEHRH MY 560,000 640,000 280,000
< 224,000
s 336,000
301 LA F 560,000 640,000 80,000
< 224,000
i 336,000
12 J|EtE &= 560,000 640,000 80,000
O04d =gel d=H™ A 560,000,000& 560,000
< 224,000
e 336,000
S35 ALK 13,000 13,000 0
307 glz2+ol & 13,000 13,000 0
04 QIZFHALAIH E = 13,000 13,000 0
O=sUREsN(EEEI )
10,000, 000& 10,000
O=tlal &= Jt=sUs ot 3,000,000& 3,000
JEEN(sd=sE MENS, =8) NEAY 7,000 7,000 0
307 glz2+ol & 7,000 7,000 0
02 HAFHAANGEEX 7,000 7,000 0
OJde S0l X3 AY 500,000& = 1404 7,000
sge s ss244 NE 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 B AAFEX 20,000 20,000 0
O=sgel ot Es=44 XE
2,000,000 * 1000 2 20,000
Y sge Js3F TNAAME 328,020 323,575 4,445
= 228,094
< 28,838
s 71,088

- 212 -




25 sd3
Ha: sHRWAAG
ool ST (B9 ®R)
- _ _ RE]
S =B .G (3 H) - Al HAS gﬁ‘&i HR=2
201 Bt 1,500 1,500 0
= 750
= 750
01 AP 22| H| 1,500 1,500 0
Ogbt4=24| = 1,500,000 1,500
= 750
= 750
202 044l 500 1,000 A 500
= 250
= 250
01 2L Y| 500 1,000 A 500
OF-[EE=3--1 =2 04 bl
500,000 500
2 250
= 250
301 et M= 5,600 6,700 A 1,100
= 2,800
= 2,800
12 JIEtE2 A= 5,600 6,700 A1,100
OF-[EE=3--1 IR 2
AL 5,600,000 5,600
2 2,800
= 2,800
307 QI2t0| & 320,420 314,375 6,045
= 224,294
& 28,838
o 67,288
02 QI2tA AALES 320,420 314,375 6,045
OETEET L
320,420,000& 320,420
2 224,294
= 28,838
= 67,288
HE =0l dsFHI XA (EHI) 85,600 67,200 18,400
= 25,680
= 59,920
307 gizto| A 85,600 67,200 18,400
= 25,680
= 59,920
02 A2t AALY 85,600 67,200 18,400
Osz &Y
85,600,000 85,600
& 25,680
= 59,920
soiolo] & A 20,000 20,000 0
307 gizto| A 20,000 20,000 0
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2N s8I
HE: sAZMAYS
Sl s FI| (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 20,000 20,000 0
Os=g0olo U AL 20,000,000 20,000
DNEAA MA L XEH sHsH 6,076,146 16,475,455 A 10,399, 309
= 1,624,864
J| 67,959
= 1,010,550
= 3,372,773
AEtAHASsHAE 2ISsIE |4 37,200 38,400 A 1,200
= 11,160
= 26,040
301 et A =2 37,200 38,400 A 1,200
& 11,160
= 26,040
12 JIEtE A= 37,200 38,400 A 1,200
OFsdAsdMZ 9E5sI SEXA
37,200,000 37,200
& 11,160
= 26,040
DNEYMMA ASsKHHAR 35,000 71,000 A 36,000
402 SI2v X201 & 35,000 71,000 A 36,000
01 CIZEXIE A B (MMM ) 35,000 71,000 A 36,000
ONEE &4 MA ASI| AKX
1,400,000 = 50CH * 50% 35,000
F= A 22 1,500 1,500 0
201 B9 1,500 1,500 0
01 AP 22| H| 1,500 1,500 0
OFSYT TTYIS 2 A oIy
1,500,000 1,500
H 22 H(sY) 22X 360,900 360,900 0
307 212t0| & 360,900 360,900 0
02 DIZHEAAIRE E X 360,900 360,900 0
OETEEPE=L
13,000& = 2,600ha * 50% 16,900
OH - &=x FHAX S (H=EH)
100,000& * 2,800ha * 50% 140,000
OH gols=2H (S0, 4=H,a2H) X
102,000 * 4,000ha * 50% 204,000
EAXHSH XIS AL 676,337 1,001,345 A 325,008
= 450,485
o= 98,194
= 127,658
307 212t0| & 676,337 1,001,345 A 325,008
= 450,485
= 98,194
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2N s3I
BH: sAMAYs
el DEBIA MM Y VB SYURY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 127,658
02 It M AMHEE 676,337 1,001,345 A 325,008
OELMHEH XEA 676,337,000 676,337
= 450,485
= 98,194
[ia 127,658
NEZE S A At 408, 166 433,580 A 25,414
201 Let24d]| 1,600 3,800 A 2,200
01 At 2teltl 1,600 3,800 A 2,200
OLEZ MMM EZ(EEE S) 1,600,000 1,600
202 O4dl 1,876 2,680 A 804
01 =S LHAYI 1,876 2,680 A 804
OEd s =30
2,680,000& = 70% 1,876
307 gl2tol & 404,690 426,200 A 21,510
02 IZtE M AIHE L 404,690 426,200 A 21,510
Ol olatdlg2 XN& 70,5002 * 2,600ha * 50% 91,650
ORiel 2488 4&EXH
160,000& = 2,600ha * 50% 208,000
Ol 2= dsM X&
160,000& = 1,313ha * 50% 105,040
LI 2 55,500 45,000 10,500
= 55,500
201 LB-2E| 52,000 41,500 10,500
= 52,000
01 At 22l 52,000 41,500 10,500
OFRL= XA (EH S) 52,000,000 52,000
= 52,000
202 oddl 3,500 3,500 0
= 3,500
01 = LH o4 1l 3,500 3,500 0
OFsL=2c ol 3,500,000& 3,500
= 3,500
FIZHE XA A 1,689,048 1,689,048 0
= 1,047,210
< 192,550
s 449,288
307 gl2tol & 1,689,048 0 1,689,048
= 1,047,210
< 192,550
s 449,288
02 IZHE M AHE L 1,689,048 0 1,689,048
ORJIEHZXNEAAZ 1,689,048,000& 1,689,048
= 1,047,210
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2N s3I
HE: sAZMAYS
Sel DEIM MM U HBY SASY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 192,550
s 449,288
=esHE=Es UM 970,891 990,000 A 19,109
< 206,966
s 763,925
307 glz2tol & 970,891 990,000 A 19,109
< 206,966
s 763,925
02 (It HAMHEE 970,891 990,000 A 19,109
O=sg 2= dsXtM X& 970,891,000& 970,891
< 206,966
= 763,925
A=A ZH 222 122,593 103,270 19,323
< 33,720
i 88,873
402 RIZ2FX201 A 122,593 103,270 19,323
< 33,720
e 88,873
02 LA TEALEZ(0IETHR) 122,593 103,270 19,323
Od=sJlAHz U = 122,593, 000& 122,593
< 33,720
s 88,873
s&E MHHEH 648,885 1,198,677 A 549,792
< 278,094
s 370,791
301 LA F 648,885 1,198,677 A 549,792
< 278,094
[ia 370,791
12 J|EtE4 = 648,885 1,198,677 AB49,792
&2 MHol2& X3 A 648,885,000 648,885
= 278,094
s 370,791
AN ASH ALK A 19,000 19,000 0
307 glz2tol & 19,000 19,000 0
04 DIZHHALALSE E X 19,000 19,000 0
ORFYs M2 & =X &It
50,0003 = 50 » 2 5,000
O#dgs 3l |35
50,0003 = 50H » 2 5,000
OfNMAs(Z,dI)UE &It
50,000& = 90 =« 2¢ 9,000
RI=LERI=XNES 7,200 3,600 3,600
< 1,350
s 5,850
301 LEd = 7,200 0 7,200
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2H: =2

HE: sAZMAYS
Celr DEIM MM U S SUASA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,350
s 5,850
12 JIE2 4= 7,200 0 7,200
Rl=sgdERIsXNES 7,200,000 7,200
< 1,350
[ia 5,850
AAHYs Mz SHAEERX ES 16,560 16,560 0
= 3,178
s 13,382
301 LEEAF 16,560 16,560 0
< 3,178
= 13,382
12JIE243 16,560 16,560 0
Odgs Ml sgE2X BES
16,560, 000& 16,560
< 3,178
s 13,382
EZL2HYO0IBHAIA 37,800 31,840 5,960
< 9,585
s 28,215
402 RIZ2EXt20l ™ 37,800 31,840 5,960
< 9,585
[ia 28,215
02 RIZE X2 AL EZ (OIS ) 37,800 31,840 5,960
OXSBLHE0SH XA 37,800,000 37,800
S 9,585
s 28,215
A= EM(2HI) 33,000 33,000 0
301 LEd = 33,000 33,000 0
12|24 = 33,000 33,000 0
OXstd =L EH (2Hl)  330,000& * 100ha 33,000
THoHCHEl @ s XHIH XI& 30,000 50,000 A20,000
302 Ol THoH E&f = 30,000 30,000 0
02 QIZHITHOH R EFR &S 2N = 30,000 30,000 0
ORIt THEH L 2TEHE K&
100,000& * 300ha 30,000
I sS T & AL 37,622 37,622 0
= 15,049
< 6,772
s 15,801
307 gl2tol & 37,622 0 37,622
= 15,049
< 6,772
s 15,801
02 It M AHE X 37,622 0 37,622
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2N
X ZH -
L= B

el

HAH & XEAE s2Hso

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

OKRIN=LXMHAZ

37,622,000

MW

37,622
15,049

6,772
15,801

S&Y HHAME FHIXE AL

EURLY

21,520

5,990
15,530

22,870

A1,350

307 glztol &

M H

21,520

5,990
15,530

21,520

02 B LML E X

O
o
2
19
ro
Dﬂ
>
00
0
=
=
0

21,520,000&

M

21,520
21,520

5,990
156,530

21,520

M A

22,000
8,800
3,960
9,240

27,000

A5,000

307 21201 &

Mo

22,000
8,800
3,960
9,240

22,000

A
H SSHEX 2RI

22,000,000&

MR

22,000

22,000
8,800
3,960
9,240

22,000

M

93,970

22,820
71,150

110,600

A 16,630

VR

93,970
22,820
71,150

110,600

A 16,630

93,970,000&

EUNE

93,970

93,970

22,820
71,150

110,600

N 16,630

M

71,000

21,300
49,700

71,000

M

71,000

21,300
49,700

71,000

ORJls - 2= MisIt 32X

71,000,000&

H

71,000

71,000
21,300

71,000

- 218 -




2H: =2

HE: sAZMAYS
Celr DEIM MM U S SUASA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 49,700
NSEY MATHHY BN 2 93,786 72,226 21,560
< 28,136
s 65,650
307 gl2tol & 93,786 0 93,786
< 28,136
s 65,650
02 PIZHEHAHE X 93,786 0 93,786
OLNSEY MATHHY 2&E3 N 22=2
93,786,000 93,786
< 28,136
s 65,650
sdZSg RPC XA 40,000 40,000 0
301 LeEBAF 10,000 10,000 0
12 JIEtE& = 10,000 10,000 0
OSd=ZSE RPC US4 T =Hhdl X
5,000& = 4,0002 = 50% 10,000
402 RI2HXt20l ™ 30,000 30,000 0
01 212t 2 AL B (RERTH ) 30,000 30,000 0
OS4d=2ES8 RPC Z&ETH XA
600& = 100,00000 = 50% 30,000
RIS AE ASHE X& 7,200 4,000 3,200
< 1,944
s 5,256
301 LA F 7,200 4,000 3,200
< 1,944
s 5,256
12JIE243 7,200 4,000 3,200
ORJIIIISAE sHE X& 7,200,000 7,200
< 1,944
s 5,256
FIIIEAE ZZM N& 18,900 26,840 AT,940
< 5,400
i 13,500
402 QI2H X201 M 18,900 26,840 AT,940
< 5,400
[ia 13,500
02 QI EASEZ (01X THS) 18,900 26,840 AT,940
ORIIIBAE 22 XA 18,900, 000& 18,900
< 5,400
s 13,500
=0 HEI2EX NI OI2LH 22 X) 83,519 43,620 39,899
101 1244 dl 37,169 22,884 14,285
04 D12t Z2XREES 37,169 22,884 14,285
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2H: =2

HE: sAZMAYS
Celr DEIM MM U S SUASA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUIUANE2ZX BX 22 37,169
=0 69,7603 * 2¥ » 240 33,485
-ALRIE™ JI2RE S 33,484,800& * 11% 3,684
301 LEPEAZ 46,350 20,736 25,614
09 HALAHIXI &3 6,600 3,840 2,760
OAZUAHEZZA =4HI
8,000& = 150 = 13 1,200
OA=AANEIZ X 2HAH|
3,000 = 1509 = 43| 1,800
OAICUAHEZZ X NS LXNZ
600,000& * 63 3,600
12 JIEE4 3 39,750 16,896 22,854
OtMEEE XA (=)
45,0002 = 150 = 50 & 33,750
OL=eAHEB22X H4EE XA
20,000& = 150 = 13 3,000
OAZCAHE2ZA ZI&=24 A&
300,000& = 109H 3,000
QMR AsAsL=E X 86,400 206,593 A 120,193
= 43,200
= 12,960
e 30,240
301 LBEAS 86,400 206,593 A 120,193
= 43,200
< 12,960
fia 30,240
01 MEIBEZE 05z 86,400 206,593 A 120,193
Oguts Agasst=E XA 86,400,000 86,400
= 43,200
< 12,960
[ia 30,240
r8it 2+HExE(2H3S) NE 17,250 29,250 A 12,000
= 4,805
[ia 12,445
402 RI2HXt20l ™ 17,250 29,250 A 12,000
< 4,805
s 12,445
02 2IZt 2 AL EZ (OIS ) 17,250 29,250 A 12,000
OJEUtl =xMEX(EM3S S) N
17,250,000& 17,250
< 4,805
[ia 12,445
Hg AlE dAHIS 3,000 1,500 1,500
201 Let2d] 3,000 1,500 1,500
01 At 22l 3,000 1,500 1,500
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M s3I
TR =
(=R B

o]
=
oel: DEIA

Zp MM W ABE SYUSA (Sl &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHIE Alg ZAHE 300,000& * 103l 3,000
FolOrMEsE2 ZEHALXA 9,240 2,640 6,600
= 4,620
< 1,386
[ 3,234
402 RIZ2EX201 ™ 9,240 2,640 6,600
= 4,620
= 1,386
e 3,234
02 RIZEXt2 AL EZ (OIS ) 9,240 2,640 6,600
ORNOFMSSES ALK 9,240,0002 9,240
= 4,620
< 1,386
[ia 3,234
HMEAY At 2teldl X 67,959 36,450 31,509
J| 67,959
101 @124l 40,809 27,213 13,596
J| 40,809
04 JIZHZ2Z2XNESE S+ 40,809 27,213 13,596
OJIZtHZ2=2 X elAt| 40,809,000 40,809
J| 40,809
201 LBH2E| 19,150 1,800 17,350
J| 19,150
01 At 2t 2l 19,150 1,800 17,350
Oger==8H| 7,000,000& 7,000
J| 7,000
o=l 8,050,000& 8,050
J| 8,050
OZ2UXEM MSEE(EEE S)
4,100,000& 4,100
J| 4,100
202 O4dl 8,000 7,437 563
J| 8,000
01 = LH 4 bl 8,000 7,437 563
OAtg 2tel ¢l 8,000,000& 8,000
J| 8,000
N3 H SR 4= 210,000 0 210,000
< 48,400
[ 161,600
402 RIZ2FRt201 A 210,000 0 210,000
< 48,400
e 161,600
02 RIZEXt 2 AL EZ (01X TS ) 210,000 0 210,000
OLZ2 H SR X2 210,000,000 210,000
S 48,400
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2H: =2

HE: sAZMAYS
Sel DEIM MM U HBY SASY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 161,600
FEA S40| MUEX S 43,200 0 43,200
< 11,880
s 31,320
307 gl2tol & 43,200 0 43,200
< 11,880
s 31,320
02 PIZHEHAHE X 43,200 0 43,200
OZEFEO ML &4 43,200,000& 43,200
< 11,880
[ia 31,320
HHEHR=SLY 23t 2,827,927 3,226,372 A 398,445
= 73,000
J| 183,839
< 283,855
e 2,287,233
2HERZE 11,788 13,840 A2,052
201 -4l 7,000 7,000 0
01 At 22l 2,000 2,000 0
OANER 222 MZH 2,000,000& 2,000
02 =24l 5,000 5,000 0
OdIDFFAER AME - 25 &2l
2,000,000& 2,000
Ongela Al 8ol sl 3,000,000& 3,000
202 Oddl 4,788 6,840 A2,052
01 = LH 4 Hi 4,788 6,840 A2,052
ORHER HR2=& Hl 6,840,000 * 70% 4,788
LEEzE 0= N 60,900 90,900 230,000
402 RIZFX201 A 60,900 90,900 A 30,000
01 U2 EALE X (XA MR) 60,900 90,900 230,000
OXd= AX)D| 3,400,000 = 20CH * 50% 34,000
O1n= MAEDI 2,000,000& * 10CH * 50% 10,000
QLF ERJ(BHA)
200,000& = 50CH = 50% 5,000
O4d= Z23HE 34,000& = 7008 = 50% 11,900
DEZE JFHHE SH(=2 ) 460,000 280,000 180,000
402 RI2EXt20l ™ 460,000 280,000 180,000
01 RIZt Xt 2 AL E = (REM &) 460,000 280,000 180,000
OAETA 22 HIOIE THHEAIE
1,400,000& * 100= * 50% 70,000
O48 VSHALSHW(LLH S) XN
1,000,000& * 200ha * 50% 100,000
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5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
MA (B S)SED| NS
800,000& = 100= = 50% 40,000
Holel 2850Hd K&
500€ = 400,000m = 50% 100,000
=22 LEE2 MAAYXE
150,000,000 150,000
CHylst b= X 92,000 112,000 A 20,000
& 70,000 0 70,000
MAISEE X 70,000 0 70,000
AsXM(Hd2Olol olg d2H S) X
& 200,000& = 700ha * 50% 70,000
20| & 22,000 112,000 A 90,000
2 AL E R (XA S) 22,000 112,000 A 90,000
SEFAXE K& ALS
4,400& = 10,0008 * 50% 22,000
=2 4 240,500 240,500 0
& 221,000 0 221,000
AAFE B X 221,000 0 221,000
A=A AR 180,000,000 180,000
B =X K 41,000,000 41,000
=20|d 19,500 240,500 A 221,000
SEANDE R (XM HH) 19,500 240,500 A 221,000
S8 RS 30& = 1,300,00004 * 50% 19,500
HEtH NESGHESHAY 245,000 180,000 65,000
o= 80,850
= 164,150
=20l ™ 245,000 180,000 65,000
= 80,850
= 164,150
SANEEX(OIETHH) 245,000 180,000 65,000
d NEESFHSFHAIE 245,000,000 245,000
& 80,850
= 164,150
ANEKAWNEHXOI2ESES NI (H2AIAE) 182,500 367,651 A 185, 151
= 73,000
= 109,500
=20 182,500 367,651 A 185, 151
= 73,000
= 109,500
XNEALESR(0IXHL) 182,500 367,651 A 185, 151
AWK Ol2s8sHEZAE)
182,500,000 182,500
= 73,000
= 109,500
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
NEE 53 4 141,000 125,000 16,000
402 BI2H X 20| M 141,000 125,000 16,000
01 It EANSEXZ (MMM A) 141,000 125,000 16,000
Ozles AEXNIANY 66,000,000 66,000
Ostgl e st XA 55,000,000 55,000
Otz Hl28 XA
100,000& * 400%E * 50% 20,000
FTAAFE H &l &8 2 2A2d| X & 3,900 27,000 A 23,100
J| 3,900
307 QI2t0| ™ 3,900 20,000 A 16,100
J| 3,900
02 QI2tAMAIE E X 3,900 20,000 A 16,100
OFTAAMIE H & =8 X3 3,900,000& 3,900
J| 3,900
XEtE EE AU MAAIE EZ ALY 150,000 110,000 40,000
== 42,000
= 108,000
402 BI2H X 20| M 150,000 110,000 40,000
= 42,000
= 108,000
02 CIZEXIEANISE X (0| XM THL) 150,000 110,000 40,000
OrEH A=E JUMAMANE BESAS
150,000,000 150,000
= 42,000
= 108,000
NS0 SHsH(Ler) 61,750 92,400 A 30,650
J| 24,700
= 11,115
= 25,935
402 BI2H X201 M 61,750 92,400 A 30,650
Jl 24,700
o= 11,115
= 25,935
02 QIZEXIEAISE X (0| XM THL) 61,750 92,400 A 30,650
OAMAER0 S (LB 61,750,000 61,750
J| 24,700
= 11,115
= 25,935
W BAE2AMANAY| X 116,500 105,000 11,500
& 34,950
= 81,550
402 SI2F 20| & 116,500 105,000 11,500
& 34,950
= 81,550
02 BIZtXIEANYEX(0OIETH) 116,500 105,000 11,500
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2N s3I
HE: sAZMAYS
ool RANSHSH 2at (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot E2 MaEY XI& 116,500,000 116,500
< 34,950
[ia 81,550
HAMZHAST XISt AL Z A= 2] 160,000 160,000 0
403 MtXISHHE X201 E 160,000 160,000 0
02 S 2SO HEAE R 2 E AL B 160,000 160,000 0
OXlot=G&TAL L AAZT 22| (AH - FaH)
10,000,000 » pt2dE 8= 80,000
O MMM S X E =4l
10,000,000& = 8IH & 80,000
IS EAE SUHSAY 275,750 388,000 A 112,250
J| 110,300
< 49,630
e 115,820
402 RI2EX20| A 275,750 388,000 A 112,250
J| 110,300
< 49,630
e 115,820
02 LA TEALEZ(0IETHR) 275,750 388,000 A 112,250
O DEEANLSEUSFAY 275,750,000 275,750
J| 110,300
< 49,630
s 115,820
QAN SSAEY 60,136 55,900 4,236
< 16,813
[ia 43,323
402 RIZ2EXt20l 60,136 55,900 4,236
< 16,813
[ia 43,323
02 2IZt 2 AL EZ (OIS ) 60,136 55,900 4,236
OoaXd"g s&H 2= 60,136,000& 60,136
< 16,813
e 43,323
Olar MAAIE BUSALY 67,097 65,027 2,070
J| 26,839
< 12,077
s 28,181
402 BI2FX=201 M 67,097 65,027 2,070
J| 26,839
= 12,077
s 28,181
02 QI EALEZ (01X E) 67,097 65,027 2,070
OQla MAAIE SUSHALY 67,097,000& 67,097
J| 26,839
= 12,077
[ia 28,181
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DF HIJrE MUIAIE X2 (A0 SEMA) 22,000 110,000 88,000
J| 8,800
s 13,200
402 2I2H X201 M 22,000 110,000 88,000
J| 8,800
s 13,200
02 2IZE 2 A EZ(OI XM TH ) 22,000 110,000 88,000
O HIJtE MHHAIE K& 22,000,000& 22,000
J| 8,800
= 13,200
AT s S8AY 308,000 250,000 58,000
307 glz2tol & 308,000 0 308,000
02 QIZtE M AMHEE 308,000 0 308,000
OXXHL2A =8 SHAY 308,000,000 308,000
FoE=E sHIU X2 8,525 5,500 3,025
< 2,387
[ia 6,138
402 RIZ2EXt20l M 8,525 5,500 3,025
< 2,387
[ia 6,138
02 RIZE X2 AL EZ (OIS ) 8,525 5,500 3,025
ORHA=E &gl XA 8,525,000 8,525
< 2,387
s 6,138
ANEJ0H ICTE=SE &AtAY 18,600 30,515 A 11,915
J| 9,300
< 2,790
s 6,510
402 QI2H X201 M 18,600 30,515 A 11,915
J| 9,300
< 2,790
s 6,510
02 QIZEHEASEZ (01X THS) 18,600 30,515 A 11,915
OAMEJU ICTe=g =t 18,600, 000& 18,600
J| 9,300
< 2,790
[ia 6,510
e ALRNEE ELSIMNEXAAS 102,611 39,500 63,111
< 28,643
i 73,968
402 RIZER20l ™ 102,611 39,500 63,111
< 28,643
e 73,968
02 RIZEXt 2 AL EZ (01X TS ) 102,611 39,500 63,111
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2H: =2
=

HE: sAZMAYS
ool RANSHSH 2at CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OF&EAH AMNERANEESE ELSHHIMAEX AL
102,611,000 102,611
= 28,643
= 73,968
MAS MAD|BE ZMHAS 30,000 30,000 0
402 BI2H X 20| M 30,000 30,000 0
01 SI2ZEXIEANSEXR (MMM A) 30,000 30,000 0
oA (ATYZ2Y) A
300,000& * 200= * 50% 30,000
Uastaly S 4 XE 9,370 0 9,370
o= 2,600
= 6,770
402 SI2FXHE0| ™ 9,370 0 9,370
=} 2,600
= 6,770
02 QIZEXIEAISE X (0| XM THSH) 9,370 0 9,370
Oltx=gaY s 84 XNF 9,370,000 9,370
= 2,600
= 6,770
SNHSMARS 3,073,268 5,289,247 N2,215,979
o=t 400,250
= 2,673,018
SENEEE 671,120 686,400 A 15,280
201 Bt 664,400 676,800 N 12,400
01 AP 22| H| 650,000 660,000 A 10,000
OS¢t 82 ME 20,000,000 20,000
OsEdNz2 21 600,000,000& 600,000
OsdE Bl HA 2 S=Hl 10,000,000 10,000
OBAFEA % 228 S42 2Y
20,000,000 20,000
02 B32%H| 14,400 16,800 A 2,400
OsSNE 288 M)z
50,000 * 4014 « 12€ 2,400
OEE8 X8 K4 12,000,000& 12,000
202 044l 6,720 9,600 A 2,880
01 2L I 6,720 9,600 N 2,880
OsdiERsS g2F&8 odl
9,600,000& * 70% 6,720
SSNNERSKE 92,000 88,000 4,000
402 SI2t X0l & 92,000 88,000 4,000
01 QI E A EXR (NI ) 92,000 88,000 4,000
OSH=EZDE X X2
24.,000,000€ * 50% 12,000

- 227 -




- o
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
O=sEd2 TN XH 160,000,000€ = 50% 80,000

MELESXE 191,000 201,000 A 10,000

201 LBt Y| 10,000 20,000 A 10,000

01 AP 22| d| 10,000 20,000 A 10,000
Ol satg s82 M & 10,000, 000& 10,000
307 212t0| & 100,000 100,000 0
02 QI2tAMAIE E X 100,000 100,000 0
Ox=&sde 42 HA0AHE N
100,000, 000& 100,000
402 SI2HXHE0| & 81,000 81,000 0
01 St EANS EXR (M) 81,000 81,000 0
Ox=sde st ZHM MEXE
50,000,000 50,000
OxsgasAl XA
20& % 3,100,0000H * 50% 31,000
M2 =S SHAIYE 628,665 444 220 184,445
& 188,600
= 440,065
402 12t XHE0| & 628,665 444 220 184,445
& 188,600
= 440,065

02 QX2 AIS E X (0| &M THS) 628,665 444 220 184,445

OsitE =8 4 628,665,000& 628,665
& 188,600
= 440,065

LS A e EHOH 173,000 173,500 A500

201 et d| 33,000 35,500 A 2,500

01 AP 2t 2| H| 33,000 35,500 A 2,500
OgdiAIE da L ™A X S

20,000,000 20,000
OsdtE sH =8 24| 1,500,000& 1,500
OFNHANEH =sSNE 228 s§& M
11,500,000 11,500
301 et A= 60,000 60,000 0
12 JIEtE2 A= 60,000 60,000 0
OsS46S 2D &Haidl X 50,000,000 50,000
OSSEZDE X)) iyl N (DEYSE
greiol) 10,000,000 10,000

307 QI2t0| ™ 80,000 76,000 4,000

02 QI2tAAMAIE E =X 10,000 6,000 4,000
OSHd8ZB N MHHEH M43 XH

10,000,000& 10,000
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2N s3I
HE: sAZMAYS
e SUHEMMURS (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 70,000 70,000 0
OgtAtdl ==0t B E& 50,000,000& 50,000
OUsSa () B &4 20,000,000& 20,000
sAME =E=FHl N&E 657,500 600,000 57,500
< 197,250
s 460,250
301 EEd = 657,500 600,000 57,500
< 197,250
s 460,250
1224 = 657,500 600,000 57,500
OsAlE =278 XA 657,500,000 657,500
< 197,250
s 460,250
FU=R SUHEFKSAE EXXNE 132,500 100,000 32,500
402 RI2EX=20l A 132,500 100,000 32,500
01 U2 E2ALE X (KM R) 132,500 100,000 32,500
O428 M2M&ED 44X N
200,000,000& * 50% 100,000
OEltE &80 &X XA
5,000,000& = 6CH = 50% 15,000
O==s0t 8480 X XA
35,000,000& * 50% 17,500
SHAUAXNIHAE 2 X& 49,000 51,000 A2,000
201 ¢er24] 29,000 31,000 A 2,000
01 At 22l 9,000 11,000 A 2,000
OgAldl satEREHE AIILHl oHA R CHY|
9,000,000& 9,000
02 =224l 20,000 20,000 0
O=gel XNFAAE ALEH |
20,000,000& 20,000
401 Al HI K 2018 20,000 20,000 0
01 A& HI 20,000 20,000 0
O=sgeXJANE RAE =4I 20,000,000& 20,000
SE=EL 22828 ZH BEdEs 29 19,000 19,000 0
< 5,700
s 13,300
307 glz2tol & 19,000 19,000 0
< 5,700
e 13,300
02 IZtE A AMHEE 19,000 19,000 0
OE=L ¥SZ3 &Y Edts 23
19,000, 000& 19,000
= 5,700
[ 13,300
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o o o o o o o o o O O o O O o o O O o O O o O O o o O O o o o o [ee] o o o [ee] [ee]
el |= Sl (= S| ©Q|le © oY ©C OUe|e Tale o= S oIS (TSI Y Y e e S I A
o o o o o o o o [aNEENes BN )] [aNEENes N e)] (V) [aNEENes BN @)} M~ o0 — M~ 0 — N~ M~ 0 — [ee] [ee] [ee] o] — [<o] [<o] © ) Y]
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o
<
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o o [0 [ o o}
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X0 _ 30 e =< ~ < H
— 0 () < K0 = m < ul
- 0l < o [=) Bl ol o
= 0 — <3 o | ofl i — -
S T =0 1B B m iy <L o 0H
o =0 4 = a0 o 0 LN = 3l o 3 = F R0
o | o " =z wﬁ__ = 5 = l T R | wm |z |5 £l
- o | R (T o z | B2 Ho 2 B4 20 O =i B4 20 o TR |< 8|0 |8 |0 ™ R | =
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SRS
SMSMAUASE (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSEZAMUAEZ M 23H X
105,482, 160& 105,483
HsHEXNZ 1,184,545 1,493,435 A 308,890
= 171,536
< 532,842
s 480,167
HsHELYRFL 3,010 4,300 A 1,290
202 04l 3,010 4,300 A 1,290
01 = LH 4 Hi 3,010 4,300 A1,290
OHsHE R=& WUl 4,300,000 * 70% 3,010
H=sel KA 24,000 24,000 0
402 BI2HX=20| M 24,000 24,000 0
01 2IZE 2 A B (KM ) 24,000 24,000 0
OFse 48 sI1AH XNEAEY
2,400,000& = 20004 = 50% 24,000
SsEMESsL0ts SEAMY 31,820 18,463 13,357
= 16,090
< 5,361
s 10,369
301 LEd = 1,677 1,641 36
= 1,049
< 188
s 440
12JEEd= 1,677 1,641 36
O=sZExdgs2d0is 2&tg XA
1,677,000 1,677
= 1,049
S 188
s 440
307 glz2tol & 30,143 16,822 13,321
= 15,041
< 5,173
s 9,929
02 PIZHE M AHE L 30,143 16,822 13,321
OsSEMEF20IS MRE 34 X
30,143,000 30,143
= 15,041
< 5,173
i 9,929
SHE NEINS RSAE X (HEAY) 802,000 0 802,000
< 480,000
s 322,000
201 €24 2,000 0 2,000
01 At 22l 2,000 0 2,000
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2N
X ZH -
L= B

el

o o
0 19 0
tol

Hoy

M 02

P
o oy
m
£
r_)‘-l_l
{0

ir
x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

OcaHeld NEZE ZEE 48

1,000,000 =« 23l 2,000

207 & 51 OH & H| 48,000 0 48,000

28,800
19,200

SUNE

01 2789l 48,000 0 48,000

E 2| (Food Factory) ME HRPIHE

16,000,000& 16,000
9,600
6,400

M

OZEHER|(Food Factory) Satds HAE

32,000,000& 32,000
19,200
12,800

M

401 AIEHIZ 2 I 752,000 0 752,000
451,200
300,800

VN

01 A& HI 751,150 0 751,150
OFEc=®Ee|(Food Factory) HE

751,150,000& 751,150
450,690
300,460
]l 850 0 850
M E 2| (Food Factory) 248 A& S20ibI

850, 000& 850

510
340

M

03 Al
©)

x

2

=]
2
c

4H

M

sSEME

0

o
02
=)
1o
12
o
0y
ol

715 672 43
446

81
188

HH A

301

e
HL
o
oy

715 672 43
446

81
188

e

MW

12IIEtEd= 715 672 43
OsEMEZF20S2 F2Zsu= 715,000& 715
446

81
188

EUR Y

HsAHEY & NHF0 3= 3,000 6,000 23,000
900
2,100

EURLY

307 glztol & 3,000 6,000 A 3,000

900
2,100

M H

02 It HAMAEE 3,000 6,000 A 3,000
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FM: 53
NI, =A
o Tt =1

s

el

SN FH-SA(EN) - MBAY - BES 0l &k o4

=

i
2m

3,000,000 3,000

900
2,100

M H

U

Zatdiel = o0 F 10,000 10,000 0

307 21201 & 10,000 10,000 0

04 QIZHHALAIH 2 & 10,000 10,000 0
clotS=Hl 10,000, 000& 10,000

SN SERX XEAS 310,000 200,000 110,000
165,000
46,500
108,500

Mo

101 1Al 45,000 34,000 11,000
22,500
6,750
15,750

Mo R

04 DIt 22 XS+ 45,000 34,000 11,000
OAsHAEXNZLE MEE & o48A 224
45,000,000& 45,000

22,500
6,750
15,750

MW

201

e
s
Mo
02
=

118,000 49,540 68,460
59,000
17,700
41,300

MW

01 ArR2t2lH] 82,600 29,540 53,060
OFsHENZLE 2 AR 22l
7,600,000& 7,600

3,800
1,140
2,660

R

25,000,000& 25,000
12,500
3,750
8,750
OAsHE SEH| 50,000,000& 50,000
25,000
7,500
17,500
400 0 400
400,000& 400

200
60
140

35,000 20,000 15,000

HH W

MR

02

0K
H0
02
=

O

It
O
u
THh
paal
0
x
@
H0
02

M

03

02
>
0
02
=5
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2H: =2

BH: sAMAYs
Sl AsHEX (el:de)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OHsHE S &It 35,000,000& 35,000
= 17,500
o= 5,250
= 12,250
202 044l 6,000 9,000 A 3,000
= 3,000
& 900
iy 2,100
01 2L Y| 6,000 9,000 A 3,000
OEANURX HAsHE &3 L As |
4,000,000 4,000
= 2,000
o= 600
= 1,400
OA=AHEC B 2= (| 2,000,000& 2,000
= 1,000
== 300
= 700
301 et ™M= 43,000 5,000 38,000
= 21,500
= 6,450
= 15,050
12 JIEtE2 A= 43,000 5,000 38,000
OH=sHER 2 M 3,000,000& 3,000
= 1,500
o= 450
= 1,050
OA=0 HE HE XJAS 30,000, 000& 30,000
= 15,000
= 4,500
= 10,500
Ollsc® &#0Jte 8stus 10,000,000 10,000
= 5,000
o= 1,500
= 3,500
307 212t0| & 68,000 72,000 A4 ,000
= 34,000
& 10,200
= 23,800
02 DI2HH ALALH B X 28,000 20,000 8,000
OA=0 X0 & f3as 10,000,000& 10,000
= 5,000
== 1,500
= 3,500
OXN9lis 43t X Ag 6,000,000 6,000
= 3,000
o= 900
= 2,100
SZ=0A 012l &0tED] 12,000,000& 12,000
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2N s8I
HE: sAZMAYS
g AsAHENS EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 6,000
< 1,800
= 4,200
05 QIZ2tRE 2 40,000 32,000 8,000
OEZANQ X HE0 X 40,000,000 40,000
= 20,000
= 6,000
= 14,000
402 12t XHE0| ™ 30,000 0 30,000
= 15,000
=} 4,500
= 10,500
02 QNI E A E X (0| XM THH) 30,000 0 30,000
OA=sCo & LAY 30,000,000 30,000
= 15,000
< 4,500
= 10,500
HEL2IAAH (sEH ) 29,694 32,572 N2,878
Jl23dl(s&1) 29,694 32,572 N2,878
Jl2&Hl 29,694 32,572 A2, 878
201 et d| 24 414 26,572 A2,158
01 AP 2t 2| bl 23,264 24,930 N 1,666
Ogbt=2d| 5,760,000& 5,760
O3 &l 6,920,000& 6,920
OEZAD X2 450,000& = 10H ~ 12€ 5,400
OMA™AY ADE J2H| 5,184
G EL 3,960
Y
440,000 * 1CH * 45 = 23] * 90% 3,168
- Ed 440,000€ = 1CH = 23] = 90% 792
- utT el g 200,000& = 1CH = 23] = 90% 360
—EAI(EY ¥ =3)
200,000& = 1CH = 33| * 90% 540
-FAX 120,000€ » 1CH » 33 * 90% 324
02 B232%H| 1,150 1,642 N492
OHA™EH |RANEH| 1,150
-CHIIsAFRD1D]
1,300,000 * 18CH * 5% * 70% 819
-T2l fH 4,000,000 * 2CH * 2% = 70% 112
-2 AlD| 15,000,000& = 1CH * 2% * 70% 210
-FAX 600,000& = 1CH = 2% * 70% 9
202 o4 Hl 1,680 2,400 ANT720
01 2L HI 1,680 2,400 ANT720
Osd1l g42=& OH| 2,400,000& = 70% 1,680

- 235 -




<

n0

Kio

Hl w

H3r
Wikd
RIS

3,600
3,600

Off &t 24

3,600
3,600
3,600

KJ
KE
ok
ol

1« 128
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